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1. 1. Haiinute 3nauenue eipaxenus log, (ab’), ecnu log,a = =

Pemenne.
BrimonauM npeodpa3oBaHus:

=1421=22.

3
log, (ab’) = log,a+ 3log,b =1+ loga
OTtser: 22.
2. 2. Haiinute log, %, ecmu log, b= 3.

Pemenmne.
BeimonHuM npeodpa3oBaHus:

loga% — log,a—3log,b=1-3-5=—14.

OrseT: —14.
3. 3. Haiigure log,(a*b’), ecnu log,b = —2.

Pemenne.
Brimonanm npeobpazoBaHus:

log,(a*b*) = log,a* +log, b® = 2log,a + 3log,b = —4.

OTBeT: 4.
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4. 4. Haiimure log, B> e log, b= —2.

Pemenne.

6
a
Haiinute log, B com log,b=-2.

()
loga% — 6log,a—4log,b=6—4-(—2) = 14.

OtBerT: 14.



